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12 4 6| 26 0 3| 14| 53 6, 226 0.9
13 4 6| 37 5 2| 16| 70 5, 268 1.3
14 o 11| 41 4 2| 21| 81 4,694 1.7
15 71 11| 48] 11 4 31| 112 6, 227 1.8
16 1 12| 23 3 4 16| 59 5, 760 1.0
17 2 71 28 7 1| 21| 66 6,675 1.0
18 3l 10l 21 9 of 14| 57 6, 798 0.8
19 6 2| 21| 14 of 14| 63 7, 208 0.9
20 7 5| 14/ 20 1 23 70 6, 636 1.1
21 3l 13| 17 1 ol 16| 50 5,563 0.9
22 2| 11| 32 4 2| 20 71 5,017 1.4
3 564|1,037|2,859] 235 66| 944[5,705] 350,660 1.6
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4. Nk (BT © AL %)
X4y kKRR B E (B AT ;zf
W DX LR | G | aase |t | 2 o | E (A0 T
A Fn47 35| 92| 59 17 1 46| 250 3, 859 6.5
48 53 98] 104| 21 2| 40| 318 3,425 9.3
49 69 92| 110 9 1 27| 308 3,737 8.2
50 55 54| 111 7 1 23| 251 3,725 6.7
51 56| 92| 97 1 41| 295 3,810 7.7
52 69| 115 125 15 1 71| 396 3, 831 10.3
53 29| 82| 96 7 11 39| 264 3, 303 8.0
54 44| 51 77 5 71 65| 249 3,216 7.7
55 43| B3| 120 14 1 49| 280 3, 854 7.3
56 36| 62| 117 17 ol 43| 275 3, 968 6.9
57 24| 78| 108 11 4| 45| 270 4,200 6.4
58 20| 38| 115 11 0| 36| 220 4,112 5.4
59 10| 25| 76 2 31 26| 142 4,312 3.3
60 18| 34| 81 4 2 18| 157 4,170 3.8
61 12| 23] 82 3 0 12| 132 3, 445 3.8
62 8 18] 50 2 31 21 102 2,751 3.7
63 71 30| 80 3 2 13| 135 3, 069 4.4
SER T 9 28 82 2 0 17 138 2, 866 4.8
2 8 13| 39 1 0 13 74 2,472 3.0
3 11 6] 71 0 1 15| 104 2, 360 4.4
4 8 2| 55 1 3 7 76 2,064 3.7
5 9 2| 35 1 1 4 52 2,007 2.6
6 10 11 35 0 2 9 67 2, 145 3.1
7 5 8 31 3 4 11 62 1,944 3.2
8 4 7 14 0 2 6 33 1, 869 1.8
9 4 10| 25 0 2 5 46 1,926 2.4
10 6 8l 21 3 2 6 46 2,328 2.0
11 4 71 31 4 1 12 59 2,472 2.4
12 4 71 38 0 2 16 67 2, 605 2.6
13 4 71 41 3 2 15 72 3, 344 2.2
14 4 10| 45 7 2| 32| 100 3,834 2.6
15 12 13| 62 8 4| 34| 133 4,055 3.3
16 1 11 29 5 3l 23 72 3,976 1.8
17 4 71 28 5 1 20 65 4, 346 1.5
18 5 12| 27 5 0 14 63 4,188 1.5
19 6 3| 25 3 0 9 46 3, 960 1.2
20 13 6 15 5 1 23 63 3,872 1.6
21 4 15 17 1 0 13 50 4,016 1.2
22 5 9] 31 4 21 20 71 4,157 1.7
it 728|1,239(2,405| 217| 75| 939| 5,603 129, 593 4.3

L. BRSO R (BERE BI2HKBE) 12X 5,
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ZEBHEBIIIRL
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() REHBAENF —LEEZOTAERRERR (AFEH)
(B 1 %)

oy KR A i yTEEvn
T S — EE

51 o il e TN I B et ) il B
IHFN474E 2,838 105 3,647 — — — — - — — —
EFn484E 2,602 | 123 3,391 — - -1 - — e
IEF494F 2,271 121 2,860 — — — — — — — —
I FI504F 1,969 107 2,405 — — — — — — — —
HEFN514F 1,896 100 2,284 — — — - — - — —
HEFN524F 1,991 7 2,390 — — — — — — — -
5347 1,644 71 1,962 — — — — — - — -
I FN544F 1,576 66 1,860 - — — — — — - —
I FN554F 1,651 82 1,962 — — — — — — — -
WRGeE | 1500 80| 1se9| ai] s2| 2| 7| 21| | | —
IBFI574E 1,899 107 2,282 56 49 2 5 2.9 — — —
I FI584F 2,435 82 2,818 40 30 1 9 1.6 — — -
HHFN594F 2,654 87 3,122 47 40 4 3 1.8 — — —
604 2,401 63 2,799 59 45 4 10 2.5 — — —
EFN6 145 2,471 83 2,802 72 65 1 6 2.9 — — -
I FN624F 2,521 78 2,840 70 59 2 9 2.8 — - —
WResE | 2691 80| si28| 69] 53] 3| 18] 26| | | —
PR TAE 2,839 93 3,259 60 47 4 9 2.1 — — —
Sk 24 2,926 100 3,469 67 53 6 8 2.3 4 98 | 102
R 34 3,234 94 3,742 69 56 7 6 2.1 11 99 [ 110
SERRAE 3,336 109 3,903 51 41 6 4 1.5 7 66 73
SERESAE 3,169 115 3,743 44 34 5 5 1.4 3 64 67
SERLB4E 3,096 82 3,665 32 26 2 4 1.0 6 42 48
T | 2,928 100] sa92] 4| 25| 2| 1 2] 4| u] s
PR 8L 2,944 7 3,407 36 28 5 3 1.2 8 57 65
RO 3,118 90 3,626 42 27 2 13 1.3 2 57 59
PRk 104 3,805 80 4,389 37 24 5 8 1.0 1 44 45
SERELLAR 3,904 65 4,443 29 22 2 5 0.7 2 37 39
SR 124F 4,294 79 4,877 41 30 6 5 1.0 3 46 49
SR L3E 5,115 78 6,163 89 71 8 10 1.7 0] 124 124
W1 | 5,759 61| 6,958 | 133] 103] 16] 14| 23] 5] 173] 178
SERR 154 6,127 79 7,352 116 | 103 10 3 1.9 5| 142 | 147
R L64F 6,512 61 7,752 181 | 133 22 26 2.8 2| 227 229
PR TAE 6,519 63 7,839 179 | 135 20 24 2.7 2| 232 234
SR L8AR 6,653 62 8,071 182 | 131 20 31 2.7 3] 220 | 223
SR L94E 6,525 43 7,852 181 | 119 24 38 2.8 3| 243 | 246
RL204E 6,509 43 7,664 165 | 111 20 34 2.5 2| 220 222
SRR 2 1AE 6,324 47 7,524 179 | 122 28 29 2.8 2| 230 232
SERRL224E 6,501 47 7,722 187 | 125 26 36 2.9 0| 245| 245

1. AR O ERHZ S DV TR,
2. [H—YFH | LIL, WEHFERO Y FE OIS, R EOHE £ A SRR E 0SS A13 E s
FHBENEZN),
3. T =i, EHOHE B ENBOTHD,
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